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Explain five arcas of business and commerce where statistics are extensively used, s
{10 marks)
The table below shows the monthly advertising expenditure with the corresponding
sales volume.
Maonth January | February | March | April | May
Advertising expenditure 12 1.8 1.0 1.3 1.8
{sh million}
Sales Volume (sh. million) 162 05 1.0 120 nn
(i} Determine the regression line of sales volume on advertising expenditure,
{8 marks)
(i) During the 8th month, the company expects to spend sh_ | 500,000 on
advertisement. Caleulate the expected sales volume, (2 marks)
State six sources of published data. {6 marks)
The data below relates to materials consumed by redeross of Kenya recently.
Minimum usage 16,000 units per week -
Maximum usage 30,000 units per week ;
Lead time 12-16 weeks 3
Economic Order Quantity | 470,000 units
Nommal usage 10,000 units per week %
Re-order Quantity 60,000 units
Maximum Stock Level 0,000
Calculate:
{i) re-order level:
{ii) minimum stock level:
(i)  maximum stock level:
{iv)]  maximum lead time. {14 marks)

Explain five factors that necessitate most organizations to have good in VEntory
management systems. (L0 marks)

In June 2008, Alfar Company employed 150 staff of whom 90 were men. During the
year 20 staff members left and 15 of these were men. The total recruitment during the
year was |5 out of whom 5 were women.

During 2009 wastage declined by 5 amongst men compared with 2008 and no women
left. 10 more men but 4 fewer women were recruited than in the previous year, The
total number employed on st January 2010 amountad to 1040,

Arrange the above information in concise tabular form showing all relevant totals and
sub-totals, { 10 marks)
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Highlight five disadvantages of quartiles positional averages. ( 10 marks)

The distribution of sales of Omega Company are as shown below:

Sales MNumber of
Companies
4-8 1
g-12 9
12- 16 21
165 - 200 A7
20 -24 52
24 -28 30
28 - 32 20
32-36 >
Calculate:
(i) the mean sales;
{ii}  the standard deviation. {10 marks)
Describe seven steps that need to be undertaken in cases where primary diata must be
obtained. (14 marks)
{i) Outline two major approaches to probablity. (2 marks)

(i A social work graduate applies for a job in two firms y and z. The probability
of her being selected in company y is (.7 and being rejected at Z is 0.5, The
probability of at least one of her application rejected is (L6, What is the
probability that she will be selected in one of the firms? {4 marks)

Explain four canses of error in sampling, {6 marks)

The data below shows the sales of rubber shoes made by Keinowear Limited for years
2006, 2007 and 2008.

Period Sales in ksh.
2006 st quarter 23350
2nd quarter 23 450
Jrd quarter 22 630
dih quarter 24,800
2007  Ist quarter 25,250
2nd guarter 25,110
3rd quarter 24370
dth quarter 25 400
2008 15t quartce 26.860
2nd quarter 275610
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(1) Drraw & graph to illustrate the above data and on it superimpose a graph

of the Four quarterly moving average. { 12 marks)

{i)  Comment on the reliability of the sales. {2 marks)

A company in Malindi is considering investing in a project whose initial cash outlay
15 5h. | SO0KK). The expected net cash flows are as follows:

Year Met Cash Flow (sh)
I 200 000
2 500000
3 SO0000
4 400,000
5 60,000

The firms cost of capital is 13.5%

Determine:

{i) the nct present value of the project at discount rates of 9% and 10% respecti vely;
{it)  the internal rate of return (IRR);

{in)  whether the company should invest on the project, (12 marks)

Explain four reasons why presenting data in graphical form is more superior 1o
diagrammatical presentation. (8 marks)

Highlight six points which have to be followed while constructing a network diagram.
(12 marks)

There are 1,000 students in Omega college. Out of 20,000 in the whole University, in a
study 200 were found alcoholist in the college and 1,000 in the whole university,

Prove whether the data reveals a significant difference between proportions of
aleoholists in Omege college and University. (8 marks)
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